
 

sin is not countable

if we can index a setby IN
it is countable

if it is impossible to index that set by IN
it isuncounter

representation IN 40142,3

eachelement of IP IN canbe representedby an infinitely long

bit string e.g 9118

A 1 457

IP A 50 413,49 45 414 1,57 4,53 41,415

00 to do do it of

if I claim PCN if lountable Ishould beable to index it

by IN write it in an ordered list

iii infinity long bitvector is
uncountable

Y 8 I canuse thisresult

IRAN IN

new bitstring IP A IS AI

it is impossible to indexthe listby IN build a bijection because



we can always create a new bit string not in the list

PCN is not countable

Show that set of R E 0,1 is uncountable

in
0 I 0 0 0 IR are also uncountable

1

new IR 2 4 8 3

uncomputability and haltingproblem


